6./$590 : ‘oN Buime.q
1d71 1899 UNTYIV AT : M3IA papojdx3

adnodd

Z o | abeyd

TVNOILdO

LLLVLIL - 9keq
0-9818000-NJ : UoIsiAsYy



EXPLODED VIEW: EV AIRCLNR G6.8L LPL

DRAWING #: 0G5475

APPLICABLE TO:

GROUP D

ITEM PARTH# QTY. DESCRIPTION

1 0F5419 1 ELEMENT AIR FILTER

2 0F6977 1 PLATE AIR CLEAN TOP 5.4L/6.8L

3 0D2513A 1 BOTTOM PLATE, AIR CLEANER 6.8L(GEAR BOX)
0D2513B 1 BOTTOM PLATE, AIR CLEANER 6.8L(DIRECT DRIVE)
0D2513C 1 AIR CLEANER BTM PLT W/COUPLER
0D2513F 1 AIR CLEANER BTM PLT W/COUPLER

4 G062522 1 STUD TH 1/4-20 X 3 G2 ZNC FULL

5 G022127 1 NUT HEX 1/4-20 STEEL

6 G022097 1 WASHER LOCK Mé6-1/4

7 G037561 1 NUT WING 1/4-20 NYLK

8 0A4256 1 INDICATOR FILTER MINDER

9 0G5954 1 GROMMET .625 X 1.25 X .433

REVISION: CN-0008186-C

DATE: 7/11/17

Page 2 of 2



